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ADVANCE \D 3.60EXERCISE ANSWERS


Exam Preparation Exercises

1.     a.  Invalid   b. Valid   c. Invalid   d. Valid   e. Valid

2.
a.  27    b.  13    c.  5    d.  0    e.  3    f.  8   g. 1

4.   a.  3   b.  4   c.  37   d.  162   e.  23   f. 5

5. 
a.  a =  5b= 2



       
b.  Sum: 7




c.  Sum: 7




d.  4  feet



7.  
y = -b +  (b2 – 4ac)1/2

8.
a.  .235   b.  .166   c.  44.2   d.  8   e.  o   f.  21   g.  8   h.  5   i.  1   j.  3
10.
a.  9.1   b.  7.0   c.  24   d.  16.0   e.  5.0   f.  3.0

11. 
AB


((41.3(is(the(value(of(n


(((21.8(is(the(value(of(y

12.
a.  14.38   b. (((14.38   c.  14.38   d. (14.383

13.
a.  26   b.  reparation   c.  0   d.  15   e.  15   f.  string:npos

Programming Warm‑Up Exercises



   3.   a.  x/y – 3   b.  (x+y)*(x-y)   c. 1/(x+y)   d. 1/x + y   e.  i/(float)j   f.  i/j   g.  ((x+y)/3 – (x-y)/5)/(4*x)
4.   a.  abs(i)   b.  labs(n)   c.  fabs(x+y)   d.  fabs(x) + fabs(y)   e. pow(x,3)/y   f.  sqrt(pow(x,6) + pow(y,5))  


   g.  pow(x+sqrt(y),7)

6.  
This is a laboratory exercise for the student and requires no answer here.




7.

This also is a laboratory exercise for the student, but it requires that comments be added before the             program is entered. A sample is given here.





//************************************************





// Programming Assignment Two





// William T. Verts    June 27, 1996





// This program computes the cost per ounce, given total cost 





// and the weight expressed in pounds and ounces





//************************************************





#include <iostream.h>





using namespace std;





const int T_COST = 1376;    // Total cost





const int POUNDS = 10;      // Weight in pounds





const int OUNCES = 12;      // Additional weight in ounces





int main()





{  int   totOz;    // Total weight in ounces





    float uCost;    // Computed cost per ounce





    totOz = 16 * POUNDS;





    totOz = totOz + OUNCES;





    uCost = T_COST / totOz;





    cout << "Cost per unit: " << uCost << endl;





    return 0;  }

8.
// Calculate perimeter


    perimeter = 2.0 * (length + width);


    // Calculate area


    area = length * width;


    // Output results


    cout << “Rectangle length = “ << length


         << “ and width = “ << width << endl;


    cout << “Rectangle perimeter is “ << perimeter << endl;


    cout << “Rectangle area is “ << area << endl;


    return 0;


}

10.
firstLoc = sentence.find(“res”);

        
strLeft = sentence.substr(firstLoc+3 , sentence.length()-3);



pos2 = strLeft.find(“res”);



cout << “second position of ‘res’” << pos2+1 << “th character”;

         strLeft = strLeft.substr(pos2+3, strLeft.length()-3);

   
pos3 = strLeft(“res”);



cout << “third position of ‘res’” << pos3+1 << “th character”;

Case Study Follow-Up

   3 .   The roundoff factor should be a constant, because it should not change during the execution of the 


    program. If the program were changed to let the user enter a different roundoff factor each time, then it 

          would have to be a variable.

4.
The five lines:

miles = float(int(DISTANCE1 * SCALE * 10.0 + 0.5)) / 10.0;


cout << “For a measurement of “ << setprecision(1) << DISTANCE1

     << “ the first distance is “ << miles << “ mile(s) long.”


     << endl;


totMiles = totMiles + miles;


are repeated, and the underlined words are the only variations. Later we learn how to write our own functions and, by using parameters, how to modify only the underlined words
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